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SECTION (B)

Topic Test2 -- TM3 Name:
SECTION (A)
Answer Answer

. +4-9 16, - (T4) =
2. -8+7 17. — (T4 =
3. —~2+ 5 18. 9 -74
4, -3 -7 19. "3 -77
5, —-10 +2 20. 7T -T2
6. -8 -1 21, "6+ T8+ "3+ 71
7. 11-3 -4 22, T2 78711
8. 9-3+8 23. "6 -"8-"3-"1
9. -3 +6 -5 +4 24, Find the sum of ~14 and -7
10, ~4 -7 -2 25. Add 22 to negative 45
1. 9 -1-1 -1 26. Find the total of -6, 1 and -9
12. "3+ °2 27.  Subtract 8 from -11
13. 12 + 77 28.  From -9 sublract -12
14. “4+75+8 29. ‘Whatis 22 more than -10
15, 725 + 30 + ~10 30. Whatis 30 lessthan -8

Answer Answer
Write as decimals: Multiply:
’ 3 21. 008 x 10
10 -
2 8 22. 08 x 100
T 100
3 34 23. 1.8 x 1000
1000
4 145 24. 0035 x 10
100
Change to the simplest fraction:
5 07 25. 081 x 10°
6. 025 26. 08 x 4
7. 001 27. 15 x 6
8. 008 28. 02 x 03
True or False? Divide
9. 08 <04 29. 69 + 10
10. 0.7 < 066 30. 2362 + 1000
11. 0.45 > 0.088 31. 51 + 100
i2. 02 > -0.5 32. 0-004 = 10
Add
13. 08 + 04 33. 68 + 10°
14, 066 + 0.7 34. 69 =+ 3
15. 0408 + 1-68 35. 462 + 2
16. 1.4 + 068 + (.08 36. 41 + 2
Subtract
i7. 08 - 04
18. 066 — 04 -More questions on the next page -
19. 2 — 035

20. 132 - 1.87




Use this page if you ran out of room on a question OR you had to RE-DO a question

40.

5

41.

42,

1.44 = 0-8

37.

5.-04 x
2:35

38.

39,

1-74
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Give the co-ardinates of each of the points shown on the Number Plane below
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Topic Test2 - 7M3 Name: Tibfony  Tues 400 pmn
SECTION (A)
Answer Answer
1. +4-9 16, — (4 =
- 2 4 L
5 /1 _ -
2. -8 +7 17. —~(T4) =
-1 -4 L
3. -2+5 2 8. 0 - 4 2
. 2 y
4 -3 -7 19. 3 -7
([5 -10=+2 200 "7 -2 5
ﬁg /’ //
6 -8-1 21, "B+ T8+ T3+ 71
~q F - -2
d A
7. 11-3 -4 22, “z2-T§g-"11 1
4’ AT . //
8.  9-3+6 23. "B-"8-"3-"1 4 '
L 7 -6+ #3-to-quyy A
TTodles TTIE T8 -5 + 4 l 24.  Find the sum of -14 and -7 1['_
L~ —~2i. -
] e
10. -4-7 -2 256, Add 22 to negative 45 2
— - L~ — L~
1. 81 -1 —1 26. Find the total of -6, 1 and -9
6 L~ . 9\4 L~
v >
12, "3+ 72 27. Subfract 8 from -11 )
-5 ¢ -9
| A ]
3. 12 + 77 6 128) From -9 subtract 12
- ~O- 1 + /)
14, 4+ 5+8 (29} What Is 22 more than -10 i
s [ N
15, "25 + 30 TS 5 30. Whatls 30 fess than - 8
- v _'73% v

SECTICN {(B)
Answer Answer
Write as decimals: - Muttiply: .
3 1. 008 x 10
1. 0 0.% (/,2 O‘gg//
8 22, 08 x 100 %
34 23. 18 x 1000 1 e %
3. — - 00
1000 O.D%fr// A
145 : 24, 0035 x 10 0
4 — 45 V7 35
100 v ]
Change 1o the simplest fraction: ;
k Z 5, 0-81 x 10
5 07 o 2 X @ ‘ \//
6. 025 A 26, 08 x 4 L~
. M 7. 16 x 8
7. 0011 o /,2 G P
8. 008 3. 428 02 x 03 o.0 |~
: LENA d
True or False? ("32/" | Divide
3. 08 < 04 o /,29. 89 + 10 0.649,17
. 0 . 30, 2362 + 1000
0. 0.7 < 06? = A . o_zge.'iz//
11. 045 > 0.088 T N 31. 51 + 100 0.5\ N
12. -02 > 05 T ¥ 32. 0004 + 10 b;ddcr},/
Add . .
3. 08 + 04 3. 89 + 10
1 , V.o |//3 G'qu/-b--;
FARY & .
Qﬂ 066 + 07 Igg’ag;‘/‘/ 34. 69 + 3 232 b
. : 35, 462 + 2
15, 0.408 + 168 2‘0%%1)35 4 23\
. . ). Va6 4.1 + 2
16. 1.4 + 068 + 008 2_\th/aa 1 2.051//
_Sybiract Al . ’f( .
17} 0-8 — 04 E” =W i/m
19, 066 — 04 =, | -More questions on the next page-
F[j) 0}255’& ]
{19.) 2 - 0-35
Q) Lbﬁ//
Fa
20 132 — 1-87
W32 Y
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1.-44 + 0.8
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39.

Give the co-ordinates of each of tha points shown on the Number Plana below
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